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%105. Calculate each of”
a) Current yield. :
- b) Yield to call

¢) Yield to Maturity.
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7. Given the following information:

<

Portfolio LA B c D
| Beta | 1.1 @& s 1.4
| Return (percent) 145 | 11.25 | 19.75 | 185
Standard Deviation{percent) | 200 | 175 | 268 | 245

_ Risk free rate of return is 6 per cent, Market retum is 12 per cent.

Calcu!ate Sharpe, Treynor’s and Jensen measure.

From the following details, determine the securities that are overprices and those -
that are underpriced in terms of the Security Market Line.

Security Actual Return o
A 0.33 1.7 | 050
B 0.13 1.4 1035 |
C 028 11 o™
D 0.12 095 | 0.24 |
E 0.21 105 | 0:28 | .
R 0.14 0.70 | 0.18 |
Nifty Index 0.18 1.60 020 |
T Bills 0.09 - -

Also find out the expected return when a portfoho is constructed by using equal

portions of six stocks.

period are given below :
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What is the beta value of the Pearl Ltd: company ?
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" The market return and the returns on the equnty stock of Pearl’s lelted for a certain
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